a

£
F

B\ T17)-J

S TMRIZEE (EPD)
BRES : JR-AL-24104E

SUMPORIZESANITIS A
—BAEEAT RT T IR EHOEE
RREBTFRABXAHE1-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jip

= T4—<vbh T A WARK)

M &)a—

RICOH COMPANY,LTD

RICOH

Imagine. change.

Large format printer(Inkjet)

RICOH IM CW2200

HEH ERES JR-AI-24104E
EAPCREBE PA-590000-AI-08
BR1BHED
PCR#% BYRA L IHEER
HIEXSREPE B8 2024%5H31H
m %84 mlelis ) W& E  2024%5816H
[EAARIEE., £, Tl B - HES SR, RE-UY ) AN S AT LFREEA T
RIIES IV-AI-24104
RirE%HAM 2029458158
HmOBK, TEMLE - PCRLE1—0DHE

A4 : RICOH IM CW2200

FERAE-FET

+5=3TA-wbhIIA(1 I BR)

-£/70 3.8%%/93 (A1)

H35- 218/ (A1)

UV /AE- JRAF

- BENREIEFEUAAE

-ERAFHRYAX : 18914 xK&33,000mm (O-)LAK)

SEPREES

B=EHIREEE*

FEBF 20234 9K 1H
ZER fg 8z

—REHEEIEA D R T TR EHERAS

WHE #H<z

ISO14025(CfE D e RBEERUT —4 DML UTAREE

CAIED m 515D

*SRT LR ER I TEBREARNDIRLOB G (. AT LFBZ{TD

XABmEIEARMLEITTY
BEADLHETH.
Buwabts
KU I— RRESAHXFPHEAL-3-6

https://www.ricoh.co.jp/

&E|sE (03) 3777-8111 (KX)

Fi#xES ¢ JR-AI-24104E



I3Y-J

FATMRIEES
BRES : JR-AI-24104E

(EPD)

SUMPORIESAII OIS A
—MRFEEAT RT T I IR SHOERE
RREBTFABXAMBE1-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jo

OS5A TVA D)\ &R

0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 1900 | kg-CO2eq
[ivde]d 1.3 | kg-S0O2¢eq
BRHE 0.22 | kg-Sbeq
n DFHHEE " QL " Qi
EOERA-HHEE BQOEE- UYL
PIiR =217} ait | oFE#NEE OXfE Qi | @M - #IEE cER - UYL
SURZSH) IPCC 2013 GWP 100a | kg-CO2eq | 1.9E+03 || 7.2E+02 | 5.8E4+02 | 4.2E+01 | 5.0E+02 | 3.4E+01
[izdeae kg-SOz2eq | 1.3E+00 7.3E-01 1.8E-01 9.4E-02 1.8E-01 7.9E-02
BIRHE kg-Sbeq 2.2E-01 2.1E-01 2.2E-03 1.8E-04 2.1E-03 1.1E-04
@) ] | S ¥[ QMBI MO E 9 A F5 Y b
I=[ = =217} #E - ME (EREES) Hifs1
IEBLAOREEIR 1.2E+02 kg SuUs 3.3E-01 kg
BATREER 9.8E+01 kg FILEZOA 3.0E+00 kg
@ 9.0E+01 kg
TOMER 2.0E+00 kg
o] 2R AR 2.2E+01 kg
BAE(C RS 4.8E-01 kg
HSR 4.6E-01 kg
N 3.8E-02 kg
i 4.5E+01 kg
EIBH 2.3E-03 kg
EROFREMR 2.1E+00 kg
Rt 0.0E+00 kg
At 9.4E-01 kg




T1y-J SUMPORIESAIT OIS A
—RADEANT R T ST IAEERERS

EpEe e EREHTROXASE-14-8
J1TMRRES (EPD) KANDA SQUARE GATE

ZixegEs . JR-AI-24104E https://ecoleaf-label.jp
XSA THAVILICHBITBDRENEZXZRUTVETD,

CEERRICAT SIEMIFR
- BREBECAVDS FUACEWTGERUIERMRE
- STy R TUSH(1 JAR)
- Bmoftmire AR
- FEEEFHAM © 35
- TATEAEFAAREL 1 36004%%
%PCR 10-4 @5 —2TJA4—<Xw hTU>4S (DAR) (CRVWTROFTEICRDET,
5 8/Hx20 B/Ax12 4 A/Fx35%F =36004%
- BREDEAR (EIRIFER) O&fiFEt ELTOLEEA.

©-1.FDMDIRIZEEGHR

 BRMROHSIERICHEEHLL TLVE T,

CABBOEMNEESE. TR THITUAINY R A > ODEEFISO14001 525 EEUS TIH(C TITHONTWLET,
RS : SSCC 061-20-E1-0082-R0O-L  JQA-E-70001
https://jp.ricoh.com/sustainability/environment/management/iso

QEBUEZRT—IDERS
IDEA v2.1.3. &V, TOYSLBREEAVII3EEALTNEY

®fF%

0 —YBEDHEF. PCREKLUERE - EEMEEZSRUTIZE,
OLLECDUVTI(E, BE - EEMECRESNIERSFZ/IZUIZHZEICUMRHENEE A
(ZHR5EURL : https://ecoleaf-label.jp/regulation/)
TS . JR-AI-24104E



